/<8in1 Add-on package ( Sumo & Tracker ))




@
(4]
. Q
] ~
o o
o 2]
% ~ © 5
8 > E Z
o
N = & )
= z [=4 =
o ™ ° °
[8]
3 =
£
S
N
-
>
[32]
=
lo IIIIIIIIIIIIII
IIIIIII QIIII - - -
o
8
<
2
[
O
Z 7]
€ 2
& <
< 2
x
hoy 4
= S




———e M3 x 12mm Screw 2pcs.

M3 Nuts 2 pes.

M3 Nuts 2 pes.

L—e M3 x 12mm Screw 2pcs.

O N

For T slot joint setup first, place the
M3 Nut into the Nest then tighten the
joint with using M3 x 12mm screw.






